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QUESTION 1

An administrator forgot to update the cabling sheet for a core Cisco switch and cannot recall which ports
were used by the NetApp FAS system.

Which command should the administrator run to obtain this information?

A. network port show

B. network device-discovery show

C. network interface show

D. network port broadcast-domain show

Correct Answer: A

Reference: https://kb.netapp.com/app/answers/answer_view/a_id/1032596/~/how-to-diagnose-port-issuesin-clustered-
data-ontap-

QUESTION 2

An administrator notices that the applications are running slowly. The administrator wants to determine
which component on the ONTAP subsystem is experiencing the most latency.

In this scenario, which command would you use to accomplish this task?

A. run -node * stats show system::sys_avg_latency

B. statistics system show

C. run -node * -command sysstat -x 1

D. qos statistics latency show

Correct Answer: D

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-cmpr-940%
2Fqos__statistics__volume__latency__show.html

QUESTION 3

Which ONTAP feature uses the Service Processor to speed up takeover times between HA pairs?
A. hardware-assisted takeover

B. automatic takeover and giveback

C. epsilon
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D. cluster HA
Correct Answer: A

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2492713 (26)

QUESTION 4

To which three objects on an ONTAP 9.3 cluster would you assign a QoS throughput floor? (Choose three.)
A. a volume on FAS

B. a LUN on AFF

C. avolume on AFF

D. an SVM on AFF

E. afile on AFF

Correct Answer: BCE

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.pow-perf-mon%
2FGUID-77DF9BAF-4ED7-43F6-AECE-95DFB0680D2F.html

QUESTION 5

In which two scenarios would you use a storage pool? (Choose two.)

A. when providing an SSD caching layer evenly across multiple aggregates
B. when you need to share an SSD caching layer within an HA pair

C. when you have an SVM that is running a block protocol

D. when migrating the aggregate over to the partner node

Correct Answer: AB

Reference: http://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.onc-sm-help-900%
2FGUID-31FCCF2B-6BFE-44E9-90B8-4724E4B59A77.html
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